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Lite 4vCPU, 16GB Mem, SSD 100GB, Windows OS, Anti-Virus
Cge"rczft Standard 8vCPU, 32GB Mem, SSD 100GB, Windows OS, Anti-Virus
Premium 8vCPU, 64GB Mem, SSD 100GB, Windows OS, Anti-Virus
Lite 8vCPU, 64GB Mem, SSD 50GB + SSD 2TB
CPU Standard 16vCPU, 128GB Mem, SSD 50GB + SSD 2TB
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Premium 8vCPU, 64GB Mem, 50GB + SSD 6TB
SSL VPN 22+ U
NAS 254 2|4 500GB ~ Z|CH 10TB, T, 100GB £he| Melvs




=M Xe} H[Oo|Hh S| C|O|E| =

Cloud Data Box LHOjA{ O|2 & 24 sw &

Data

EAS U 1Y XA

HEE Cloud Data Box 2|50j|A &85}7| £I8t BA A} vHE



29| Crokst HOt QIS
T2Ho| Hlo|EfQ} BN Hate

Certifications

=L ZZE2 'CSA STAR 25 = =500 2212 L 7[ss 2 MAEC=Z 2BEUCH CSAP 218 S22 Ul 35712 ME| A XS AHds 245 EsUD

bsi. 1S0/IEC gyﬁg%
S 2700 . G
Intarmation Sacurity 5
=22 FEED B2[HAH =EE MH|A EXFE =29 SRE Hot HolHE B 22| K| A =29 S22 JeIEE
Q1= 1SO 27001 EFQE s0C 1,23 25 zE N5 BT H5=01F IS0 27018
Ol1F SO 27017 PIMS Q15

HEHSMIMHA 25 =EE 2 224 32g12C
SMS 215 2705 ISO/IEC 27799 QI

NAVER Cloud 17 NAVER Cloud 2021



14|0|£H GO E{E 0| 23}

=8 00 M OfTH QIMO|ESS U=Y =+ ANENR?




@ HlofH AM 7[R = & A

ujo

ol

o

)

SH
o

ISRE _ IpIbE )9O

A
i

1S9 ZtalAl ofef (O|AO)E - XM=2|tlZ,

o7

IS

/

@

(=4 Al EF] AArs T2 2030 G932 M= 27 ol XMa2 O

o

—
19

<0
=

/1l 50

—
o] 2
o

o]
JUN

BA= F=&E 3040 A O|H X} 7t



ol
oIl
w0
n0 1of
T B
K g 5
KE oy %
T o T
S H0 T
o <q m
S @K K
T -
= M=
5 MO I
X oF Kl
N =
= olEI_
o
g KO &
51 mm ol
~ & o
ol fod <l
-y R0
q I ®
» ok @
RO T W
K- <@ i
@ @ ©

712t LH Bi S 7ROl 2T DfE 24 OIO[E 2t B|Woto] A[AE &4

Hte =,

=
=

HIAL} &7 of H|O|H

@

=



| HO|H ==

AH'O
H —

Of 7|

o A
S

=
=

=
=

@ aM HolH 3

0= Olef= M

® 27

K
K-

ofu
L

=

<
a

—r

EL
8

{|
Eil

il

I8

=

<

=
[a]0)
ol
110
{0

XA FXE flet 2192 2 Tt o



[2™] IT/SW =0f

= 32070 2|

= 2,23174.7|Y

= 5074 21

= 107421

F

CHo |2 A2l
¥ E|AE



@ X2, XI5, X[oF, =

@ OHA S

21/03" 2Hd



=
ER

o

ﬂ
£kl &

@ SH MAHES| =2

2

Of
o

f ==] AAFL

=Fl

S
ot



Looking toward 2023, most companies will need to build new digital businesses
to stay economically viable.

Changes needed to make company’s business model economically viable by 2023, % of respondents’

We need to build new
digital business(es)

eed to embed digital Not applicable; we have already made
S In our current fundamental business-model changes
business model
Our current business model will remain
economically viable without changes

McKinsey
& Company
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Break Through with
NAVER Cloud



